spare parts list
Cayman-Stripper 230V EU

=)

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 lIsfeld
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com



Table of contents

1 Cayman Stripper 230V EU (0001/2012 - 0053/2012)

1 Drive unit
8 Gear block cpl. Cayman
15 Motor cpl.Cayman Stripper 230V
2 Drive motor
3 Cockpit
4 Handle
5 Striking mechanism
1 Blade holder set ECO
6 Circuit diagram
7 Tool kit
8 Accessories

2 Cayman Stripper 230V EU (0054/2012 - 0136/2014)

1 Drive unit
8 Gear block cpl. Cayman
15 Motor cpl.Cayman Stripper 230V
2 Drive motor
3 Cockpit
4 Handle
5 Striking mechanism
1 Blade holder set ECO
6 Circuit diagram
7 Tool kit
8 Accessories

3 Cayman Stripper 230V EU (0137/2014 - 0141/2015)

1 Drive unit
8 Gear block cpl. Cayman
15 Motor cpl.Cayman Stripper 230V
2 Drive motor
3 Cockpit
4 Handle
5 Striking mechanism
1 Blade holder set ECO
6 Circuit diagram
7 Tool kit
8 Accessories

4 Cayman Stripper 230V EU (0142/2015 - 0168/2015)

1 Drive unit
8 Gear block cpl. Cayman
15 Motor cpl.Cayman Stripper 230V
2 Drive motor
3 Cockpit
4 Handle
5 Striking mechanism
1 Blade holder set ECO
6 Circuit diagram
7 Tool kit
8 Accessories
5 Cayman Stripper 230V EU (0169/2015 - heute)
1 Drive unit
8 Gear block cpl. Cayman
15 Motor cpl.Cayman Stripper 230V
2 Drive motor
3 Cockpit
4 Handle
5 Striking mechanism
1 Blade holder set ECO
6 Circuit diagram

Page 2 /133

4
6

9
11
14
16
19
21
23
25
27
29
30
32
35
37
40
42
45
47
49
51
53
55
56
58
61
63
66
68
71
73
75
77
79
81
82
84
87
89
92
94
97
99
101
103
105
107
108
110
113
115
118
120
123
125
127
129

31.03.2024



Table of contents

7 Tool kit 131
8 Accessories 133

Page 3 /133 31.03.2024



1 Cayman Stripper 230V EU (0001/2012 - 0053/2012)

31.03.2024

Page 4 /133



1 Cayman Stripper 230V EU (0001/2012 - 0053/2012)

Item no. Article no.

0 N o u A W N

Page 5/133

01_01 068213
01_02_066497
01_03_066666
01_04 068144
01_05_068124
01_06 015021
01_07_068288
01_08_066666

Description

Drive unit

Drive motor
Cockpit

Handle

Striking mechanism
Circuit diagram
Tool kit

Accessories

31.03.2024



1 Drive unit

31.03.2024

Page 6 /133



1 Drive unit

Item no. Article no.

© 00 N o u b~ W N -

W W W W W N N N N N N N N NN R R R R R R R R R R
A W N H O O 0 N O U A W N R O OO 0O N O U M W N R O

Page 7 /133

068103
066499
068101
066071
068574
014815
017769
065756
068105
068106
014888
068102
066531
017558
066497
068250
068191
068195
014861
014860
014859
068298
068100
016138
017741
066498
018272
017561
014734
049654
017743
042368
078383
068570

Description

Housing Cayman Stripper

Drive shaft axle Cayman Stripper
driving wheel cpl. Cayman Stripper
Chassis Cayman

Washer WC12DU 14x26x1,5
Hexagon nut M6 DIN985

Tooth washer A 4,3 DIN 6798

Gear block cpl. Cayman

friction bearing MFM 1420-15
handle Chassis Cayman Stripper
Wheel pin 4,2mm galv.

Drive hub plate left Cayman Stripper
Drive hub plate right Cayman Stripper
Lens head screw M 6x25

Motor cpl.Cayman Stripper 230V
O-Ring 125x2

Nut key 5x5x25 DIN 6885 A

SG cover tube Cayman Stripper
Washer M10

Schnorr Washer M8

Schnorr washer M6

Control cable 7x1,5 Chassis Cayman Str.

Pin insertion 10 polig Cayman Stripper
Rubber stop

Washer M14 DIN 125

drive belt Cayman Stripper

Cylinder head screw M6x12 DIN 6912
Cylinder head screw M5x12 DIN 912
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x25 DIN 912
Cylinder head screw M4x16 DIN 912
Cylinder head screw M10x40 DIN 912
Additional weight 20kg Cayman
Three-star grip screw cpl.M10x45

Quantity

P R A B N N N O R NN P B NN O H W R P N P B N B NP MNP B N R R

31.03.2024



1 Drive unit

Item no. Article no.

35
36
37
38
39

Page 8 /133

014932
069734
059469
068186
068187

Description
Rubber sleeve

supporting plate Cayman Stripper
Rubber sleeve

bushing Winsta 3-polig

bushing Winsta 5-polig

Quantity

N =)

31.03.2024



8 Gear block cpl. Cayman

10 12 6 7

Page 9/133 31.03.2024



8 Gear block cpl. Cayman

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 10/ 133

065515
065514
065509
065520
071562
065592
065562
065561
065591
065560
014731
065596
067997
065513
067996
019101

Description

Lay shaft Z 13 Cayman gear block
Lay shaft Z 49 Cayman gear block
gear cover Cayman Getriebe

Bushing Cayman Getriebe

Oil seal ring 14x22x4 A

O-Ring 88,62x1,78

Ball bearing 61906 2RS

Needle roller bearing BK 0910

O-Ring 14x1,8

Cylindrical pin 5x 30 DIN 7979
Cylinder head screw M6x25 DIN 912
Rotary shaft seal A 30x40x7 DIN3760
gear block housing cpl. Cayman Stripper
Lay shaft Z 14 Cayman Gear block
Safety washer 113 DIN 472

Starter disc WC20DU 22x38x1,5

Quantity

R N B B N W N P NN R P R RPB B BB

31.03.2024



15 Motor cpl.Cayman Stripper 230V

31.03.2024

Page 11/133



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

© 00 N o u b~ W N -

A b A W W W W W w w w w W N N N N N NN N N DN BB 2=
W B O VU 00 N o U A W N P O O 00O N O U b W N P b —» O

Page 12 /133

068739
068741
068743
068744
068745
068746
068747
068748
068749
068750
068753
068754
018759
068755
068787
017692
068766
068790
068756
067868
068782
068757
068758
068783
068762
068759
068761
068760
068763
018091
018359
014850
068768
015171

Description

edge runner cpl. 230V Cayman Stripper
coil ring cpl. 230V Cayman Stripper
screw HC3,9x70 Cayman Stripper

motor housing Cayman Stripper

Carbon brush holder cap Cayman Stripper
screw HC3,9x9,5 Cayman Stripper
carbon brush Cayman Stripper

carbon brush holder Cayman Stripper
Printed circuit board 230Cayman Stripper
screw HC3,5x9,5 Cayman Stripper

Air ring Cayman Stripper

connection braid Cayman Stripper
Selftapping convex head screw C 4,2x32
gearing bearing cover CaymanStr. green
Ball bearing 6000 2RSL C3 CaymanStr.
Safety washer 126 / DIN 472

Bearing HK 0808

groove pin 4x10 Cayman Stripper

shaft Cayman Stripper

Ball bearing 6000 ZZ Power X 900,1100
pinion+bevel gear CaymanStripper
gear block housing black Cayman Str.
socket 1 Cayman Stripper

pressure spring 0,7x8,5x9x1,5 Cayman Str
gear shaft Cayman Stripper

socket 2 Cayman Stripper

gearing seal Cayman Stripper

cover Cayman Stripper

spindle Cayman Stripper

Circlip 135 DIN472

Ball bearing 6003 2RS

Safety washer A17 DIN 471

barrier Cayman Stripper

Bearing HK 0810

Quantity

P R R R R B R R R R B R R R R P WRHE R R P U N RPN R NNDNNRNR R

31.03.2024



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

47
48
53
54
55
56
57
58
59
60

Page 13/133

068784
068789
068764
017663
014804
068785
068767
068786
068769
068770

Description
braid Cayman Stripper

safety washer SW10 CaymanStripper
Supporting plate Cayman Stripper
Tooth lock washer 4.3 Form A DIN 6797
Lens head screw M4x10 DIN 7985

Ball bearing 627 2RSL CaymanStripper
bearing cover Cayman Stripper

washer Cayman Stripper

magnet Cayman Stripper

spacer Cayman Stripper

Quantity

P R R B B NN R BN

31.03.2024



2 Drive motor

31.03.2024

Page 14 /133



2 Drive motor

Item no. Article no.

© 00 N o u b~ W N -

o S
N B O

Page 15/133

074310
016140
068192
068212
068198
068199
068185
068200
066534
066533
014858
014722

Description

Motor Cayman 230V Stripper
Selftapping convex head screwC4,2x38DIN
motor cover Cayman Stripper

lock nut M16

Bolting M16x1,5

Cable gland M16x1.5

plug Winsta 5-polig

motor cable Cayman Stripper
Toothed belt pinion Cayman Stripper
SG motor plate Cayman Stripper
Schnorr washer M5

Cylinder head screw M 5x25 DIN 912

Quantity

N N e = T T e S S I I NG

31.03.2024



3 Cockpit

Page 16 /133 31.03.2024



3 Cockpit

Item no. Article no.

© 00 N o u b~ W N -

W W W W N N N N N N N N N NN R R R R R R R R R R
A W N O ©OW ©® 0 N o0 U A W N H O O O N OO0 1 A W N R O

Page 17 /133

017503
066074
014647
068025
068026
068024
118141
047310
039202
068023
068649
015211
089582
039190
067749
068008
017507
040503
068028
066809
052443
068166
014695
039298
070000
014859
014860
053510
051437
068027
068021
032751
068009
019170

Description

Adapterattachment

Cover OO C-handle wolffgreen

Knob with cover f.potentiometer

Top hat rail through clamp blue 4x

Top hat rail through clamp grey 2x

Top hat rail through clamp grey 4x

Label Wolff 3D d80mm

Grip covering Magura

Handle tube for Extro2,VarioSilent

Top hat rail 100 mm

cable set Cockpit Cayman Stripper
Cable clamp Motor Duro 2.0
Presse-étoupe MS-M 12x1,5/KB 3,5-7
Screw connection w.bending prot.M20x1,5
cable retention

Bushing insert 10E polig Cayman Stripper
Contact element open NC

Washer 4,3x20x1,25 n.DIN 522

spacer Cayman Stripper

power supply 230V Cayman Stripper
Safety switch

Potentiometer 250K

On/Off switch 230V/50Hz

Switch "Dead-man"with cable VarioSilent
switch housing C-Stiel wolffgreen
Schnorr washer M6

Schnorr Washer M8

El.cord 3G2,5x0,4m grey without plug
El.cord 3G2,5x10m black without plug
Top hat rail protection clamp GR-GE 4x
Control cable 8G1,5 Cockpit Cayman Str.
Dead-man-seized handle

Housing for grommet Cayman Stripper

Plug 3-pol.230V SK1 UK

Quantity

P Rk R B B B PR NN R B R R R R N NNRPR P W R NP R PR NP PR NP R R R

31.03.2024



3 Cockpit

Item no. Article no.

34
34
35
36
37
38
41
42
44
46
47
48

Page 18 /133

019165
039203
014739
018284
014730
068074
066722
136969
071895
076759
066899
076541

Description
Plug 230V 3-polig Switzerland

Plug grey

Cylinder head screw M8x45 DIN 912
Cylinder head screw M4x12 DIN 912
Cylinder head screw M 6x20 DIN 912
control cable cpl.cockpitCayman Stripper
Protective film Cockpit Cayman

Label arrow C-Stiel

Top hat rail unclamp 6mm

Top hat rail endcoverplate

Relay 12V 230V Cayman

Current limitor230V,3wire GEFI replacem.

Quantity
1

1
2

=
o

R =S R R = SR N

31.03.2024



4 Handle

Page 19/ 133 31.03.2024



4 Handle

Item no. Article no.

© 00 N o u b~ W N -

L e = I Ry
N o U W N R O

Page 20/ 133

037953
038567
017786
014860
017651
066535
085480
014817
068294
066538
014734
014743
068167
066532
060766
068098
014829

Description

Fixing pin

Clamping lever GN300-92-M10-16-SW
Tooth lock washer 10.5 DIN 6797
Schnorr Washer M8

Cylinder head screw M8x16 DIN 912

SG Outer tube C-Handle

SG Inside tube handel Turbo/Vario/Extro
Hexagon nut M10 DIN 985

handle bracket right Cayman Stripper
SG handle bracket left Cayman Stripper
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x80 DIN 912
Clamping lever GN300-92-M10-80-SW
transport axle Cayman Stripper

Spring cotter

transport wheel D 140 Vario Stripper
Washer M10 DIN 125 A

Quantity

N N N B B B DN R R R B B N O R R R

31.03.2024



5 Striking mechanism

Page 21 /133 31.03.2024



5 Striking mechanism

Item no. Article no.

© 00 N o u b~ W N -

W W W W N N N N N N N N NN R R R P R R R R R
W N P O © 0O N O U A W N H O O 00 N O U M W N R O

Page 22 /133

036009
015225
015021
015217
014815
076729
014931
015233
066072
015077
068169
068168
013344
015218
014905
014858
014711
015221
014772
014857
014756
014847
015234
014827
014746
014750
014751
014752
014674
014830
014764
166101
166104

Description

Blade holder set ECO

Balance Disc DURO

Motor 230V NO LONGER AVAILABLE
Distance ring Flex BS180 SEE015219
Hexagon nut M6 DIN985

Excenter shaft DURO w.nut key from 2014
Rubber Bearing Duro/Eco/Primo-Stripper
Flange DURO

cover impact syst.Cayman

Bearing plate Vario

border left Cayman Stripper

border right Cayman Stripper

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Sealing ring Motor Duro 2.0

Spring washer 5x6,5 DIN 6888

Schnorr washer M5

Ball bearing 6304

Striking foot DURO/ECO/Primo

Hexagon head bolt M 6x22 DIN 933

Safety washer 152 DIN 472

Countersunk screw M6x16 DIN 7991 10.9
Shaft seal A28x52x7 NBR

Crown wheel Duro

Washer M6 DIN 125 A

Cylinder head screw M14x30 DIN 912
Cylinder head bolt M5x25 DIN 912 microv
Cylinder head screw M6x14 DIN 912 mikrov
Cylinder head screw M6x20DIN 912 microve
Ball bearing 3304 2RSC3

Washer M12 DIN 125 A

Countersunk screw M8x16 DIN7991 micro
Motor Cayman 230V / 2021

Motor Cayman 230V with bearing shield 21

Quantity

N B R R

=
N N L e N e = T = T R S = R S SR N

=
N

R R R B B 0 A W N DA R R

31.03.2024






1 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 24 /133

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



j—“'

t diagram

N

1deJs }Jog
JnejuR JuRS

L
Jojowsaalliuy m WA A

1040} 040l paac

i Tj,umf,%wlm
| G
I

zm HM ui

waysds yaedu)
Jzmb

A—
i

Sy

T

o~ [
< OUYBYBYLYOVS #T2YC

\ \
LN\JJ\JJ

R

S'UXL QLL d1sse)) X310 sIssey) bunpisjuenalg _G'1D8 0Ll dISSB)) X310 H1d¥y30) Bunyisliena g avaszion| b, ru

Ircul

6 C

31.03.2024

Page 25 /133



6 Circuit diagram

Page 26 /133 31.03.2024



7 Tool kit

Page 27 /133 31.03.2024



7 Tool kit

Item no. Article no.

© 00 N o u b~ W N -

=
o

Page 28 /133

013344
013345
013346
070900
014962
015315
017598
015809
015229
054064

Description

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Spare blades, 210 x 60 x 1 mm Duro/Vario
Spare blades, 210 x 60 x 1,5 mm Duro/Var
Hexagonal screw key SW8 DIN 911L
Plastic box 30x65 SM1200/SM800/Duro/LS
Hearing protectors

Special key SW10 Wolff

Safety gloves 1 pair

Blade protection 210mm

Tool bag green - Wolff

Quantity

N R e = = T = W = R =

31.03.2024



8 Accessories

Page 29 /133 31.03.2024



2 Cayman Stripper 230V EU (0054/2012 - 0136/2014)

31.03.2024

Page 30/133



2 Cayman Stripper 230V EU (0054/2012 - 0136/2014)

Item no. Article no.

0 N o u A W N

Page 31/133

01_01 068213
01_02_066497
02_03_066666
01_04 068144
01_05_068124
01_06 015021
01_07_068288
01_08_066666

Description

Drive unit

Drive motor
Cockpit

Handle

Striking mechanism
Circuit diagram
Tool kit

Accessories

31.03.2024



1 Drive unit

31.03.2024

Page 32 /133



1 Drive

unit

Item no. Article no.

© 00 N o u b~ W N -

W W W W W N N N N N N N N NN R R R R R R R R R R
A W N H O O 0 N O U A W N R O OO 0O N O U M W N R O

Page 33 /133

068103
066499
068101
066071
068574
014815
017769
065756
068105
068106
014888
068102
066531
017558
066497
068250
068191
068195
014861
014860
014859
068298
068100
016138
017741
066498
018272
017561
014734
049654
017743
042368
078383
068570

Description

Housing Cayman Stripper

Drive shaft axle Cayman Stripper
driving wheel cpl. Cayman Stripper
Chassis Cayman

Washer WC12DU 14x26x1,5
Hexagon nut M6 DIN985

Tooth washer A 4,3 DIN 6798

Gear block cpl. Cayman

friction bearing MFM 1420-15
handle Chassis Cayman Stripper
Wheel pin 4,2mm galv.

Drive hub plate left Cayman Stripper
Drive hub plate right Cayman Stripper
Lens head screw M 6x25

Motor cpl.Cayman Stripper 230V
O-Ring 125x2

Nut key 5x5x25 DIN 6885 A

SG cover tube Cayman Stripper
Washer M10

Schnorr Washer M8

Schnorr washer M6

Control cable 7x1,5 Chassis Cayman Str.

Pin insertion 10 polig Cayman Stripper
Rubber stop

Washer M14 DIN 125

drive belt Cayman Stripper

Cylinder head screw M6x12 DIN 6912
Cylinder head screw M5x12 DIN 912
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x25 DIN 912
Cylinder head screw M4x16 DIN 912
Cylinder head screw M10x40 DIN 912
Additional weight 20kg Cayman
Three-star grip screw cpl.M10x45

Quantity

P R A B N N N O R NN P B NN O H W R P N P B N B NP MNP B N R R

31.03.2024



1 Drive

unit

Item no. Article no.

35
36
37
38
39

Page 34 /133

014932
069734
059469
068186
068187

Description
Rubber sleeve

supporting plate Cayman Stripper
Rubber sleeve

bushing Winsta 3-polig

bushing Winsta 5-polig

Quantity

N =)

31.03.2024



8 Gear block cpl. Cayman

10 12 6 7

Page 35/ 133 31.03.2024



8 Gear block cpl. Cayman

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 36 /133

065515
065514
065509
065520
071562
065592
065562
065561
065591
065560
014731
065596
067997
065513
067996
019101

Description

Lay shaft Z 13 Cayman gear block
Lay shaft Z 49 Cayman gear block
gear cover Cayman Getriebe

Bushing Cayman Getriebe

Oil seal ring 14x22x4 A

O-Ring 88,62x1,78

Ball bearing 61906 2RS

Needle roller bearing BK 0910

O-Ring 14x1,8

Cylindrical pin 5x 30 DIN 7979
Cylinder head screw M6x25 DIN 912
Rotary shaft seal A 30x40x7 DIN3760
gear block housing cpl. Cayman Stripper
Lay shaft Z 14 Cayman Gear block
Safety washer 113 DIN 472

Starter disc WC20DU 22x38x1,5

Quantity

R N B B N W N P NN R P R RPB B BB

31.03.2024



15 Motor cpl.Cayman Stripper 230V

31.03.2024

Page 37 /133



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

© 00 N o u b~ W N -

A b A W W W W W w w w w W N N N N N NN N N DN BB 2=
W B O VU 00 N o U A W N P O O 00O N O U b W N P b —» O

Page 38 /133

068739
068741
068743
068744
068745
068746
068747
068748
068749
068750
068753
068754
018759
068755
068787
017692
068766
068790
068756
067868
068782
068757
068758
068783
068762
068759
068761
068760
068763
018091
018359
014850
068768
015171

Description

edge runner cpl. 230V Cayman Stripper
coil ring cpl. 230V Cayman Stripper
screw HC3,9x70 Cayman Stripper

motor housing Cayman Stripper

Carbon brush holder cap Cayman Stripper
screw HC3,9x9,5 Cayman Stripper
carbon brush Cayman Stripper

carbon brush holder Cayman Stripper
Printed circuit board 230Cayman Stripper
screw HC3,5x9,5 Cayman Stripper

Air ring Cayman Stripper

connection braid Cayman Stripper
Selftapping convex head screw C 4,2x32
gearing bearing cover CaymanStr. green
Ball bearing 6000 2RSL C3 CaymanStr.
Safety washer 126 / DIN 472

Bearing HK 0808

groove pin 4x10 Cayman Stripper

shaft Cayman Stripper

Ball bearing 6000 ZZ Power X 900,1100
pinion+bevel gear CaymanStripper
gear block housing black Cayman Str.
socket 1 Cayman Stripper

pressure spring 0,7x8,5x9x1,5 Cayman Str
gear shaft Cayman Stripper

socket 2 Cayman Stripper

gearing seal Cayman Stripper

cover Cayman Stripper

spindle Cayman Stripper

Circlip 135 DIN472

Ball bearing 6003 2RS

Safety washer A17 DIN 471

barrier Cayman Stripper

Bearing HK 0810

Quantity

P R R R R B R R R R B R R R R P WRHE R R P U N RPN R NNDNNRNR R

31.03.2024



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

47
48
53
54
55
56
57
58
59
60

Page 39/133

068784
068789
068764
017663
014804
068785
068767
068786
068769
068770

Description
braid Cayman Stripper

safety washer SW10 CaymanStripper
Supporting plate Cayman Stripper
Tooth lock washer 4.3 Form A DIN 6797
Lens head screw M4x10 DIN 7985

Ball bearing 627 2RSL CaymanStripper
bearing cover Cayman Stripper

washer Cayman Stripper

magnet Cayman Stripper

spacer Cayman Stripper

Quantity

P R R B B NN R BN

31.03.2024



2 Drive motor

31.03.2024

Page 40 /133



2 Drive motor

Item no. Article no.

© 00 N o u b~ W N -

o S
N B O

Page 41 /133

074310
016140
068192
068212
068198
068199
068185
068200
066534
066533
014858
014722

Description

Motor Cayman 230V Stripper
Selftapping convex head screwC4,2x38DIN
motor cover Cayman Stripper

lock nut M16

Bolting M16x1,5

Cable gland M16x1.5

plug Winsta 5-polig

motor cable Cayman Stripper
Toothed belt pinion Cayman Stripper
SG motor plate Cayman Stripper
Schnorr washer M5

Cylinder head screw M 5x25 DIN 912

Quantity

N N e = T T e S S I I NG

31.03.2024



3 Cockpit

f /
/ / /
/ / / /n’ / |
VA B
Y / f / /

/

36 18 10 36 48 36 12

Page 42 /133 31.03.2024



3 Cockpit

Item no. Article no.

© 00 N o u b~ W N -

W W W N N N N N N N N N N NNRPR R R R R R R R R R
N B O ©W 0 0 0 N o U A W N H O O©OW 0O N o0 1 A W N R O

Page 43 /133

017503
066074
014647
068025
068026
068024
118141
069784
039202
068023
068649
015211
089582
039190
067749
068008
017507
040503
068028
066809
052443
068166
164755
039298
070000
014859
014860
072222
071591
051437
068027
068021
069782
032751

Description

Adapterattachment

Cover OO C-handle wolffgreen

Knob with cover f.potentiometer

Top hat rail through clamp blue 4x

Top hat rail through clamp grey 2x

Top hat rail through clamp grey 4x

Label Wolff 3D d80mm

Grip covering right"Dead man"

Handle tube for Extro2,VarioSilent

Top hat rail 100 mm

cable set Cockpit Cayman Stripper
Cable clamp Motor Duro 2.0
Presse-étoupe MS-M 12x1,5/KB 3,5-7
Screw connection w.bending prot.M20x1,5
cable retention

Bushing insert 10E polig Cayman Stripper
Contact element open NC

Washer 4,3x20x1,25 n.DIN 522

spacer Cayman Stripper

power supply 230V Cayman Stripper
Safety switch

Potentiometer 250K

ETA protective switch 230V 2021

Switch "Dead-man"with cable VarioSilent
switch housing C-Stiel wolffgreen
Schnorr washer M6

Schnorr Washer M8
El.cord3G2,52x0,36m black without plug
El.cord 3G2,52X0,36M black Schukost
El.cord 3G2,5x10m black without plug
Top hat rail protection clamp GR-GE 4x
Control cable 8G1,5 Cockpit Cayman Str.
Grip covering left VarioSilent/CaymanSt

Dead-man-seized handle

Quantity

P Rk R B B B PR N>R B PR R R R N NNRPR P W R NP R R R P PR Y92 R R R

31.03.2024



3 Cockpit

Item no. Article no.

33
34
34
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48

Page 44 /133

068009
039203
019165
019170
014739
018284
014730
068074
051709
051914
051722
136966
136969
014715
071895
076759
066899
014696

Description
Housing for grommet Cayman Stripper

Plug grey

Plug 230V 3-polig Switzerland

Plug 3-pol.230V SK1 UK

Cylinder head screw M8x45 DIN 912
Cylinder head screw M4x12 DIN 912
Cylinder head screw M 6x20 DIN 912
control cable cpl.cockpitCayman Stripper
ETA protective switch 230V SEE 164756
EJOT Screw Torx 4x16

Cap for ETA switch

Label emergency C-Stiel

Label arrow C-Stiel

Cylinder head screw M3x10 DIN 912
Top hat rail unclamp 6mm

Top hat rail endcoverplate

Relay 12V 230V Cayman

Current limitor 230V, 4 wire SEE 76541

Quantity

N B R B

=
o

P P B N N R P P N B B b

31.03.2024



4 Handle

Page 45/ 133 31.03.2024



4 Handle

Item no. Article no.

© 00 N o u b~ W N -

L e = I Ry
N o U W N R O

Page 46 /133

037953
038567
017786
014860
017651
066535
085480
014817
068294
066538
014734
014743
068167
066532
060766
068098
014829

Description

Fixing pin

Clamping lever GN300-92-M10-16-SW
Tooth lock washer 10.5 DIN 6797
Schnorr Washer M8

Cylinder head screw M8x16 DIN 912

SG Outer tube C-Handle

SG Inside tube handel Turbo/Vario/Extro
Hexagon nut M10 DIN 985

handle bracket right Cayman Stripper
SG handle bracket left Cayman Stripper
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x80 DIN 912
Clamping lever GN300-92-M10-80-SW
transport axle Cayman Stripper

Spring cotter

transport wheel D 140 Vario Stripper
Washer M10 DIN 125 A

Quantity

N N N B B B DN R R R B B N O R R R

31.03.2024



5 Striking mechanism

Page 47 /133 31.03.2024



5 Striking mechanism

Item no. Article no.

© 00 N o u b~ W N -

W W W W N N N N N N N N NN R R R P R R R R R
W N P O © 0O N O U A W N H O O 00 N O U M W N R O

Page 48 /133

036009
015225
015021
015217
014815
076729
014931
015233
066072
015077
068169
068168
013344
015218
014905
014858
014711
015221
014772
014857
014756
014847
015234
014827
014746
014750
014751
014752
014674
014830
014764
166101
166104

Description

Blade holder set ECO

Balance Disc DURO

Motor 230V NO LONGER AVAILABLE
Distance ring Flex BS180 SEE015219
Hexagon nut M6 DIN985

Excenter shaft DURO w.nut key from 2014
Rubber Bearing Duro/Eco/Primo-Stripper
Flange DURO

cover impact syst.Cayman

Bearing plate Vario

border left Cayman Stripper

border right Cayman Stripper

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Sealing ring Motor Duro 2.0

Spring washer 5x6,5 DIN 6888

Schnorr washer M5

Ball bearing 6304

Striking foot DURO/ECO/Primo

Hexagon head bolt M 6x22 DIN 933

Safety washer 152 DIN 472

Countersunk screw M6x16 DIN 7991 10.9
Shaft seal A28x52x7 NBR

Crown wheel Duro

Washer M6 DIN 125 A

Cylinder head screw M14x30 DIN 912
Cylinder head bolt M5x25 DIN 912 microv
Cylinder head screw M6x14 DIN 912 mikrov
Cylinder head screw M6x20DIN 912 microve
Ball bearing 3304 2RSC3

Washer M12 DIN 125 A

Countersunk screw M8x16 DIN7991 micro
Motor Cayman 230V / 2021

Motor Cayman 230V with bearing shield 21

Quantity

N B R R

=
N N L e N e = T = T R S = R S SR N

=
N

N i = R TR~ - DR~ ~N S R U = =

31.03.2024






1 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 50/ 133

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



j—“'

t diagram

N

1deJs }Jog
JnejuR JuRS

L
Jojowsaalliuy m WA A

1040} 040l paac

i Tj,umf,%wlm
| G
I

zm HM ui

waysds yaedu)
Jzmb

A—
i

Sy

T

o~ [
< OUYBYBYLYOVS #T2YC

\ \
LN\JJ\JJ

R

S'UXL QLL d1sse)) X310 sIssey) bunpisjuenalg _G'1D8 0Ll dISSB)) X310 H1d¥y30) Bunyisliena g avaszion| b, ru

Ircul

6 C

31.03.2024

Page 51 /133



6 Circuit diagram

Page 52 /133 31.03.2024



7 Tool kit

Page 53 /133 31.03.2024



7 Tool kit

Item no. Article no.

© 00 N o u b~ W N -

=
o

Page 54 /133

013344
013345
013346
070900
014962
015315
017598
015809
015229
054064

Description

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Spare blades, 210 x 60 x 1 mm Duro/Vario
Spare blades, 210 x 60 x 1,5 mm Duro/Var
Hexagonal screw key SW8 DIN 911L
Plastic box 30x65 SM1200/SM800/Duro/LS
Hearing protectors

Special key SW10 Wolff

Safety gloves 1 pair

Blade protection 210mm

Tool bag green - Wolff

Quantity

N R e = = T = W = R =

31.03.2024



8 Accessories

Page 55/ 133 31.03.2024



3 Cayman Stripper 230V EU (0137/2014 - 0141/2015)

31.03.2024

Page 56 /133



3 Cayman Stripper 230V EU (0137/2014 - 0141/2015)

Item no. Article no.

0 N o u A W N

Page 57 /133

01_01 068213
01_02_066497
02_03_066666
01_04 068144
03_05_068124
01_06 015021
01_07_068288
01_08_066666

Description

Drive unit

Drive motor
Cockpit

Handle

Striking mechanism
Circuit diagram
Tool kit

Accessories

31.03.2024



1 Drive unit

31.03.2024

Page 58 /133



1 Drive

unit

Item no. Article no.

© 00 N o u b~ W N -

W W W W W N N N N N N N N NN R R R R R R R R R R
A W N H O O 0 N O U A W N R O OO 0O N O U M W N R O

Page 59 /133

068103
066499
068101
066071
068574
014815
017769
065756
068105
068106
014888
068102
066531
017558
066497
068250
068191
068195
014861
014860
014859
068298
068100
016138
017741
066498
018272
017561
014734
049654
017743
042368
078383
068570

Description

Housing Cayman Stripper

Drive shaft axle Cayman Stripper
driving wheel cpl. Cayman Stripper
Chassis Cayman

Washer WC12DU 14x26x1,5
Hexagon nut M6 DIN985

Tooth washer A 4,3 DIN 6798

Gear block cpl. Cayman

friction bearing MFM 1420-15
handle Chassis Cayman Stripper
Wheel pin 4,2mm galv.

Drive hub plate left Cayman Stripper
Drive hub plate right Cayman Stripper
Lens head screw M 6x25

Motor cpl.Cayman Stripper 230V
O-Ring 125x2

Nut key 5x5x25 DIN 6885 A

SG cover tube Cayman Stripper
Washer M10

Schnorr Washer M8

Schnorr washer M6

Control cable 7x1,5 Chassis Cayman Str.

Pin insertion 10 polig Cayman Stripper
Rubber stop

Washer M14 DIN 125

drive belt Cayman Stripper

Cylinder head screw M6x12 DIN 6912
Cylinder head screw M5x12 DIN 912
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x25 DIN 912
Cylinder head screw M4x16 DIN 912
Cylinder head screw M10x40 DIN 912
Additional weight 20kg Cayman
Three-star grip screw cpl.M10x45

Quantity

P R A B N N N O R NN P B NN O H W R P N P B N B NP MNP B N R R

31.03.2024



1 Drive unit

Item no. Article no.

35 014932
36 069734
37 059469

Page 60/ 133

Description
Rubber sleeve

supporting plate Cayman Stripper

Rubber sleeve

Quantity
2

1
1

31.03.2024



8 Gear block cpl. Cayman

10 12 6 7

Page 61 /133 31.03.2024



8 Gear block cpl. Cayman

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 62 /133

065515
065514
065509
065520
071562
065592
065562
065561
065591
065560
014731
065596
067997
065513
067996
019101

Description

Lay shaft Z 13 Cayman gear block
Lay shaft Z 49 Cayman gear block
gear cover Cayman Getriebe

Bushing Cayman Getriebe

Oil seal ring 14x22x4 A

O-Ring 88,62x1,78

Ball bearing 61906 2RS

Needle roller bearing BK 0910

O-Ring 14x1,8

Cylindrical pin 5x 30 DIN 7979
Cylinder head screw M6x25 DIN 912
Rotary shaft seal A 30x40x7 DIN3760
gear block housing cpl. Cayman Stripper
Lay shaft Z 14 Cayman Gear block
Safety washer 113 DIN 472

Starter disc WC20DU 22x38x1,5

Quantity

R N B B N W N P NN R P R RPB B BB

31.03.2024



15 Motor cpl.Cayman Stripper 230V

31.03.2024

Page 63 /133



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

© 00 N o u b~ W N -

A b A W W W W W w w w w W N N N N N NN N N DN BB 2=
W B O VU 00 N o U A W N P O O 00O N O U b W N P b —» O

Page 64 /133

068739
068741
068743
068744
068745
068746
068747
068748
068749
068750
068753
068754
018759
068755
068787
017692
068766
068790
068756
067868
068782
068757
068758
068783
068762
068759
068761
068760
068763
018091
018359
014850
068768
015171

Description

edge runner cpl. 230V Cayman Stripper
coil ring cpl. 230V Cayman Stripper
screw HC3,9x70 Cayman Stripper

motor housing Cayman Stripper

Carbon brush holder cap Cayman Stripper
screw HC3,9x9,5 Cayman Stripper
carbon brush Cayman Stripper

carbon brush holder Cayman Stripper
Printed circuit board 230Cayman Stripper
screw HC3,5x9,5 Cayman Stripper

Air ring Cayman Stripper

connection braid Cayman Stripper
Selftapping convex head screw C 4,2x32
gearing bearing cover CaymanStr. green
Ball bearing 6000 2RSL C3 CaymanStr.
Safety washer 126 / DIN 472

Bearing HK 0808

groove pin 4x10 Cayman Stripper

shaft Cayman Stripper

Ball bearing 6000 ZZ Power X 900,1100
pinion+bevel gear CaymanStripper
gear block housing black Cayman Str.
socket 1 Cayman Stripper

pressure spring 0,7x8,5x9x1,5 Cayman Str
gear shaft Cayman Stripper

socket 2 Cayman Stripper

gearing seal Cayman Stripper

cover Cayman Stripper

spindle Cayman Stripper

Circlip 135 DIN472

Ball bearing 6003 2RS

Safety washer A17 DIN 471

barrier Cayman Stripper

Bearing HK 0810

Quantity

P R R R R B R R R R B R R R R P WRHE R R P U N RPN R NNDNNRNR R

31.03.2024



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

47
48
53
54
55
56
57
58
59
60

Page 65 /133

068784
068789
068764
017663
014804
068785
068767
068786
068769
068770

Description
braid Cayman Stripper

safety washer SW10 CaymanStripper
Supporting plate Cayman Stripper
Tooth lock washer 4.3 Form A DIN 6797
Lens head screw M4x10 DIN 7985

Ball bearing 627 2RSL CaymanStripper
bearing cover Cayman Stripper

washer Cayman Stripper

magnet Cayman Stripper

spacer Cayman Stripper

Quantity

P R R B B NN R BN

31.03.2024



2 Drive motor

31.03.2024

Page 66 /133



2 Drive motor

Item no. Article no.

© 00 N o u b~ W N -

o S
N B O

Page 67 /133

074310
016140
068192
068212
068198
068199
068185
068200
066534
066533
014858
014722

Description

Motor Cayman 230V Stripper
Selftapping convex head screwC4,2x38DIN
motor cover Cayman Stripper

lock nut M16

Bolting M16x1,5

Cable gland M16x1.5

plug Winsta 5-polig

motor cable Cayman Stripper
Toothed belt pinion Cayman Stripper
SG motor plate Cayman Stripper
Schnorr washer M5

Cylinder head screw M 5x25 DIN 912

Quantity

N N e = T T e S S I I NG

31.03.2024



3 Cockpit

f /
/ / /
/ / / /n’ / |
VA B
Y / f / /

/

36 18 10 36 48 36 12

Page 68 /133 31.03.2024



3 Cockpit

Item no. Article no.

© 00 N o u b~ W N -

W W W N N N N N N N N N N NNRPR R R R R R R R R R
N B O ©W 0 0 0 N o U A W N H O O©OW 0O N o0 1 A W N R O

Page 69 /133

017503
066074
014647
068025
068026
068024
118141
069784
039202
068023
068649
015211
089582
039190
067749
068008
017507
040503
068028
066809
052443
068166
164755
039298
070000
014859
014860
072222
071591
051437
068027
068021
069782
032751

Description

Adapterattachment

Cover OO C-handle wolffgreen

Knob with cover f.potentiometer

Top hat rail through clamp blue 4x

Top hat rail through clamp grey 2x

Top hat rail through clamp grey 4x

Label Wolff 3D d80mm

Grip covering right"Dead man"

Handle tube for Extro2,VarioSilent

Top hat rail 100 mm

cable set Cockpit Cayman Stripper
Cable clamp Motor Duro 2.0
Presse-étoupe MS-M 12x1,5/KB 3,5-7
Screw connection w.bending prot.M20x1,5
cable retention

Bushing insert 10E polig Cayman Stripper
Contact element open NC

Washer 4,3x20x1,25 n.DIN 522

spacer Cayman Stripper

power supply 230V Cayman Stripper
Safety switch

Potentiometer 250K

ETA protective switch 230V 2021

Switch "Dead-man"with cable VarioSilent
switch housing C-Stiel wolffgreen
Schnorr washer M6

Schnorr Washer M8
El.cord3G2,52x0,36m black without plug
El.cord 3G2,52X0,36M black Schukost
El.cord 3G2,5x10m black without plug
Top hat rail protection clamp GR-GE 4x
Control cable 8G1,5 Cockpit Cayman Str.
Grip covering left VarioSilent/CaymanSt

Dead-man-seized handle

Quantity

P Rk R B B B PR N>R B PR R R R N NNRPR P W R NP R R R P PR Y92 R R R

31.03.2024



3 Cockpit

Item no. Article no.

33
34
34
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48

Page 70/ 133

068009
039203
019165
019170
014739
018284
014730
068074
051709
051914
051722
136966
136969
014715
071895
076759
066899
014696

Description
Housing for grommet Cayman Stripper

Plug grey

Plug 230V 3-polig Switzerland

Plug 3-pol.230V SK1 UK

Cylinder head screw M8x45 DIN 912
Cylinder head screw M4x12 DIN 912
Cylinder head screw M 6x20 DIN 912
control cable cpl.cockpitCayman Stripper
ETA protective switch 230V SEE 164756
EJOT Screw Torx 4x16

Cap for ETA switch

Label emergency C-Stiel

Label arrow C-Stiel

Cylinder head screw M3x10 DIN 912
Top hat rail unclamp 6mm

Top hat rail endcoverplate

Relay 12V 230V Cayman

Current limitor 230V, 4 wire SEE 76541

Quantity

N B R B

=
o

P P B N N R P P N B B b

31.03.2024



4 Handle

Page 71 /133 31.03.2024



4 Handle

Item no. Article no.

© 00 N o u b~ W N -

L e = I Ry
N o U W N R O

Page 72 /133

037953
038567
017786
014860
017651
066535
085480
014817
068294
066538
014734
014743
068167
066532
060766
068098
014829

Description

Fixing pin

Clamping lever GN300-92-M10-16-SW
Tooth lock washer 10.5 DIN 6797
Schnorr Washer M8

Cylinder head screw M8x16 DIN 912

SG Outer tube C-Handle

SG Inside tube handel Turbo/Vario/Extro
Hexagon nut M10 DIN 985

handle bracket right Cayman Stripper
SG handle bracket left Cayman Stripper
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x80 DIN 912
Clamping lever GN300-92-M10-80-SW
transport axle Cayman Stripper

Spring cotter

transport wheel D 140 Vario Stripper
Washer M10 DIN 125 A

Quantity

N N N B B B DN R R R B B N O R R R

31.03.2024



5 Striking mechanism

Page 73 /133 31.03.2024



5 Striking mechanism

Item no. Article no.

© 00 N o u b~ W N -

W W W W N N N N N N N N NN R R R P R R R R R
W N P O © 0O N O U A W N H O O 00 N O U M W N R O

Page 74 /133

036009
015225
015021
016944
014815
076699
014931
015233
066072
077743
068169
068168
013344
015218
054035
014858
014711
015221
018972
014857
014756
014847
015234
014827
014746
014750
014751
014752
014674
014830
014764
166101
166104

Description

Blade holder set ECO

Balance Disc DURO

Motor 230V NO LONGER AVAILABLE
Distance ring 0,3 mm Motor Duro 2.0
Hexagon nut M6 DIN985

Excenter shaft DURO from 2014

Rubber Bearing Duro/Eco/Primo-Stripper
Flange DURO

cover impact syst.Cayman

Bearing plate Cayman green

border left Cayman Stripper

border right Cayman Stripper

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Sealing ring Motor Duro 2.0

Nut key 5x5x12 DIN 6885

Schnorr washer M5

Ball bearing 6304

Striking foot DURO/ECO/Primo

Flat round screw M6X25 DIN 603

Safety washer 152 DIN 472

Countersunk screw M6x16 DIN 7991 10.9
Shaft seal A28x52x7 NBR

Crown wheel Duro

Washer M6 DIN 125 A

Cylinder head screw M14x30 DIN 912
Cylinder head bolt M5x25 DIN 912 microv
Cylinder head screw M6x14 DIN 912 mikrov
Cylinder head screw M6x20DIN 912 microve
Ball bearing 3304 2RSC3

Washer M12 DIN 125 A

Countersunk screw M8x16 DIN7991 micro
Motor Cayman 230V / 2021

Motor Cayman 230V with bearing shield 21

Quantity

N B R R

=
N N L e N e = T = T R S = R S SR N

=
N

R R R B B 0 A W N DA R R

31.03.2024






1 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 76 /133

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



j—“'

t diagram

N

1deJs }Jog
JnejuR JuRS

L
Jojowsaalliuy m WA A

1040} 040l paac

i Tj,umf,%wlm
| G
I

zm HM ui

waysds yaedu)
Jzmb

A—
i

Sy

T

o~ [
< OUYBYBYLYOVS #T2YC

\ \
LN\JJ\JJ

R

S'UXL QLL d1sse)) X310 sIssey) bunpisjuenalg _G'1D8 0Ll dISSB)) X310 H1d¥y30) Bunyisliena g avaszion| b, ru

Ircul

6 C

31.03.2024

Page 77 /133



6 Circuit diagram

Page 78 /133 31.03.2024



7 Tool kit

Page 79/ 133 31.03.2024



7 Tool kit

Item no. Article no.

© 00 N o u b~ W N -

=
o

Page 80/ 133

013344
013345
013346
070900
014962
015315
017598
015809
015229
054064

Description

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Spare blades, 210 x 60 x 1 mm Duro/Vario
Spare blades, 210 x 60 x 1,5 mm Duro/Var
Hexagonal screw key SW8 DIN 911L
Plastic box 30x65 SM1200/SM800/Duro/LS
Hearing protectors

Special key SW10 Wolff

Safety gloves 1 pair

Blade protection 210mm

Tool bag green - Wolff

Quantity

N R e = = T = W = R =

31.03.2024



8 Accessories

Page 81 /133 31.03.2024



4 Cayman Stripper 230V EU (0142/2015 - 0168/2015)

31.03.2024

Page 82 /133



4 Cayman Stripper 230V EU (0142/2015 - 0168/2015)

Item no. Article no.

0 N o u A W N

Page 83 /133

01_01 068213
01_02_066497
02_03_066666
04 04 068144
04 05 068124
01_06 015021
01_07_068288
01_08_066666

Description

Drive unit

Drive motor
Cockpit

Handle

Striking mechanism
Circuit diagram
Tool kit

Accessories

31.03.2024



1 Drive unit

31.03.2024

Page 84 /133



1 Drive

unit

Item no. Article no.

© 00 N o u b~ W N -

W W W W W N N N N N N N N NN R R R R R R R R R R
A W N H O O 0 N O U A W N R O OO 0O N O U M W N R O

Page 85/133

068103
066499
068101
066071
068574
014815
017769
065756
068105
068106
014888
068102
066531
017558
066497
068250
068191
068195
014861
014860
014859
068298
068100
016138
017741
066498
018272
017561
014734
049654
017743
042368
078383
068570

Description

Housing Cayman Stripper

Drive shaft axle Cayman Stripper
driving wheel cpl. Cayman Stripper
Chassis Cayman

Washer WC12DU 14x26x1,5
Hexagon nut M6 DIN985

Tooth washer A 4,3 DIN 6798

Gear block cpl. Cayman

friction bearing MFM 1420-15
handle Chassis Cayman Stripper
Wheel pin 4,2mm galv.

Drive hub plate left Cayman Stripper
Drive hub plate right Cayman Stripper
Lens head screw M 6x25

Motor cpl.Cayman Stripper 230V
O-Ring 125x2

Nut key 5x5x25 DIN 6885 A

SG cover tube Cayman Stripper
Washer M10

Schnorr Washer M8

Schnorr washer M6

Control cable 7x1,5 Chassis Cayman Str.

Pin insertion 10 polig Cayman Stripper
Rubber stop

Washer M14 DIN 125

drive belt Cayman Stripper

Cylinder head screw M6x12 DIN 6912
Cylinder head screw M5x12 DIN 912
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x25 DIN 912
Cylinder head screw M4x16 DIN 912
Cylinder head screw M10x40 DIN 912
Additional weight 20kg Cayman
Three-star grip screw cpl.M10x45

Quantity

P R A B N N N O R NN P B NN O H W R P N P B N B NP MNP B N R R

31.03.2024



1 Drive unit

Item no. Article no.

35 014932
36 069734
37 059469

Page 86 /133

Description
Rubber sleeve

supporting plate Cayman Stripper

Rubber sleeve

Quantity
2

1
1

31.03.2024



8 Gear block cpl. Cayman

10 12 6 7

Page 87 /133 31.03.2024



8 Gear block cpl. Cayman

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 88 /133

065515
065514
065509
065520
071562
065592
065562
065561
065591
065560
014731
065596
067997
065513
067996
019101

Description

Lay shaft Z 13 Cayman gear block
Lay shaft Z 49 Cayman gear block
gear cover Cayman Getriebe

Bushing Cayman Getriebe

Oil seal ring 14x22x4 A

O-Ring 88,62x1,78

Ball bearing 61906 2RS

Needle roller bearing BK 0910

O-Ring 14x1,8

Cylindrical pin 5x 30 DIN 7979
Cylinder head screw M6x25 DIN 912
Rotary shaft seal A 30x40x7 DIN3760
gear block housing cpl. Cayman Stripper
Lay shaft Z 14 Cayman Gear block
Safety washer 113 DIN 472

Starter disc WC20DU 22x38x1,5

Quantity

R N B B N W N P NN R P R RPB B BB

31.03.2024



15 Motor cpl.Cayman Stripper 230V

31.03.2024

Page 89 /133



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

© 00 N o u b~ W N -

A b A W W W W W w w w w W N N N N N NN N N DN BB 2=
W B O VU 00 N o U A W N P O O 00O N O U b W N P b —» O

Page 90/ 133

068739
068741
068743
068744
068745
068746
068747
068748
068749
068750
068753
068754
018759
068755
068787
017692
068766
068790
068756
067868
068782
068757
068758
068783
068762
068759
068761
068760
068763
018091
018359
014850
068768
015171

Description

edge runner cpl. 230V Cayman Stripper
coil ring cpl. 230V Cayman Stripper
screw HC3,9x70 Cayman Stripper

motor housing Cayman Stripper

Carbon brush holder cap Cayman Stripper
screw HC3,9x9,5 Cayman Stripper
carbon brush Cayman Stripper

carbon brush holder Cayman Stripper
Printed circuit board 230Cayman Stripper
screw HC3,5x9,5 Cayman Stripper

Air ring Cayman Stripper

connection braid Cayman Stripper
Selftapping convex head screw C 4,2x32
gearing bearing cover CaymanStr. green
Ball bearing 6000 2RSL C3 CaymanStr.
Safety washer 126 / DIN 472

Bearing HK 0808

groove pin 4x10 Cayman Stripper

shaft Cayman Stripper

Ball bearing 6000 ZZ Power X 900,1100
pinion+bevel gear CaymanStripper
gear block housing black Cayman Str.
socket 1 Cayman Stripper

pressure spring 0,7x8,5x9x1,5 Cayman Str
gear shaft Cayman Stripper

socket 2 Cayman Stripper

gearing seal Cayman Stripper

cover Cayman Stripper

spindle Cayman Stripper

Circlip 135 DIN472

Ball bearing 6003 2RS

Safety washer A17 DIN 471

barrier Cayman Stripper

Bearing HK 0810

Quantity

P R R R R B R R R R B R R R R P WRHE R R P U N RPN R NNDNNRNR R

31.03.2024



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

47
48
53
54
55
56
57
58
59
60

Page 91/133

068784
068789
068764
017663
014804
068785
068767
068786
068769
068770

Description
braid Cayman Stripper

safety washer SW10 CaymanStripper
Supporting plate Cayman Stripper
Tooth lock washer 4.3 Form A DIN 6797
Lens head screw M4x10 DIN 7985

Ball bearing 627 2RSL CaymanStripper
bearing cover Cayman Stripper

washer Cayman Stripper

magnet Cayman Stripper

spacer Cayman Stripper

Quantity

P R R B B NN R BN

31.03.2024



2 Drive motor

31.03.2024

Page 92 /133



2 Drive motor

Item no. Article no.

© 00 N o u b~ W N -

o S
N B O

Page 93 /133

074310
016140
068192
068212
068198
068199
068185
068200
066534
066533
014858
014722

Description

Motor Cayman 230V Stripper
Selftapping convex head screwC4,2x38DIN
motor cover Cayman Stripper

lock nut M16

Bolting M16x1,5

Cable gland M16x1.5

plug Winsta 5-polig

motor cable Cayman Stripper
Toothed belt pinion Cayman Stripper
SG motor plate Cayman Stripper
Schnorr washer M5

Cylinder head screw M 5x25 DIN 912

Quantity

N N e = T T e S S I I NG

31.03.2024



3 Cockpit

f /
/ / /
/ / / /n’ / |
VA B
Y / f / /

/

36 18 10 36 48 36 12

Page 94 /133 31.03.2024



3 Cockpit

Item no. Article no.

© 00 N o u b~ W N -

W W W N N N N N N N N N N NNRPR R R R R R R R R R
N B O ©W 0 0 0 N o U A W N H O O©OW 0O N o0 1 A W N R O

Page 95/133

017503
066074
014647
068025
068026
068024
118141
069784
039202
068023
068649
015211
089582
039190
067749
068008
017507
040503
068028
066809
052443
068166
164755
039298
070000
014859
014860
072222
071591
051437
068027
068021
069782
032751

Description

Adapterattachment

Cover OO C-handle wolffgreen

Knob with cover f.potentiometer

Top hat rail through clamp blue 4x

Top hat rail through clamp grey 2x

Top hat rail through clamp grey 4x

Label Wolff 3D d80mm

Grip covering right"Dead man"

Handle tube for Extro2,VarioSilent

Top hat rail 100 mm

cable set Cockpit Cayman Stripper
Cable clamp Motor Duro 2.0
Presse-étoupe MS-M 12x1,5/KB 3,5-7
Screw connection w.bending prot.M20x1,5
cable retention

Bushing insert 10E polig Cayman Stripper
Contact element open NC

Washer 4,3x20x1,25 n.DIN 522

spacer Cayman Stripper

power supply 230V Cayman Stripper
Safety switch

Potentiometer 250K

ETA protective switch 230V 2021

Switch "Dead-man"with cable VarioSilent
switch housing C-Stiel wolffgreen
Schnorr washer M6

Schnorr Washer M8
El.cord3G2,52x0,36m black without plug
El.cord 3G2,52X0,36M black Schukost
El.cord 3G2,5x10m black without plug
Top hat rail protection clamp GR-GE 4x
Control cable 8G1,5 Cockpit Cayman Str.
Grip covering left VarioSilent/CaymanSt

Dead-man-seized handle

Quantity

P Rk R B B B PR N>R B PR R R R N NNRPR P W R NP R R R P PR Y92 R R R

31.03.2024



3 Cockpit

Item no. Article no.

33
34
34
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48

Page 96 /133

068009
039203
019165
019170
014739
018284
014730
068074
051709
051914
051722
136966
136969
014715
071895
076759
066899
014696

Description
Housing for grommet Cayman Stripper

Plug grey

Plug 230V 3-polig Switzerland

Plug 3-pol.230V SK1 UK

Cylinder head screw M8x45 DIN 912
Cylinder head screw M4x12 DIN 912
Cylinder head screw M 6x20 DIN 912
control cable cpl.cockpitCayman Stripper
ETA protective switch 230V SEE 164756
EJOT Screw Torx 4x16

Cap for ETA switch

Label emergency C-Stiel

Label arrow C-Stiel

Cylinder head screw M3x10 DIN 912
Top hat rail unclamp 6mm

Top hat rail endcoverplate

Relay 12V 230V Cayman

Current limitor 230V, 4 wire SEE 76541

Quantity

N B R B

=
o

P P B N N R P P N B B b

31.03.2024



4 Handle

S
o
©

=)

[Ny -

Page 97 /133 31.03.2024



4 Handle

Item no. Article no.

© 00 N o u b~ W N -

o e T T = Y S Ry et o
© 00 N O U A W N BB O

Page 98 /133

037953
038567
017786
014860
017651
066535
085480
014817
068294
066538
014734
069875
014743
068167
066532
060766
068098
014861
014829

Description

Fixing pin

Clamping lever GN300-92-M10-16-SW
Tooth lock washer 10.5 DIN 6797
Schnorr Washer M8

Cylinder head screw M8x16 DIN 912

SG Outer tube C-Handle

SG Inside tube handel Turbo/Vario/Extro
Hexagon nut M10 DIN 985

handle bracket right Cayman Stripper
SG handle bracket left Cayman Stripper
Cylinder head screw M8x20 DIN 912
Foot rest C-Stiel

Cylinder head screw M10x80 DIN 912
Clamping lever GN300-92-M10-80-SW
transport axle Cayman Stripper

Spring cotter

transport wheel D 140 Vario Stripper
Washer M10

Washer M10 DIN 125 A

Quantity

N N N N B P N P M B R N R R N OR R R

31.03.2024



5 Striking mechanism

31.03.2024

Page 99 /133



5 Striking mechanism

Item no. Article no.

1 036009
2 077746
3 015021
4 015217
5 014815
6 076729
7 014860
8 077747
9 077748
10 077743
11 068169
12 068168
13 013344
14 015218
15 054035
16 014858
17 014711
18 077745
19 018972
20 014857
21 014756
22 014847
23 015234
24 014827
25 066714
26 014746
27 014722
28 047385
29 017651
30 066072
31 066929
32 166101
33 166104

Page 100/ 133

Description

Blade holder set ECO

Counter balance weight Cayman

Motor 230V NO LONGER AVAILABLE
Distance ring Flex BS180 SEE015219
Hexagon nut M6 DIN985

Excenter shaft DURO w.nut key from 2014
Schnorr Washer M8

Eccentric bearing Cayman

Rubber stop @40x30-M8

Bearing plate Cayman green

border left Cayman Stripper

border right Cayman Stripper

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Sealing ring Motor Duro 2.0

Nut key 5x5x12 DIN 6885

Schnorr washer M5

Ball bearing 6304

SG-Striking foot Cayman

Flat round screw M6X25 DIN 603

Safety washer 152 DIN 472

Countersunk screw M6x16 DIN 7991 10.9
Shaft seal A28x52x7 NBR

Crown wheel Duro

Washer M6 DIN 125 A

lens head screw M 8x12

Cylinder head screw M14x30 DIN 912
Cylinder head screw M 5x25 DIN 912
Lens head screw M8x20

Cylinder head screw M8x16 DIN 912
cover impact syst.Cayman

Safety washer M 8

Motor Cayman 230V / 2021

Motor Cayman 230V with bearing shield 21

Quantity

N N L T T e e e = T = T = R R S o' B = N ~URR NG R S SR

=
N

R kA~ P A b~ W N DB S~ PP

31.03.2024






1 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

015223
014772
014815
014827
014962

Page 102 /133

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



j—“'

t diagram

N

1deJs }Jog
JnejuR JuRS

L
Jojowsaalliuy m WA A

1040} 040l paac

i Tj,umf,%wlm
| G
I

zm HM ui

waysds yaedu)
Jzmb

A—
i

Sy

T

o~ [
< OUYBYBYLYOVS #T2YC

\ \
LN\JJ\JJ

R

S'UXL QLL d1sse)) X310 sIssey) bunpisjuenalg _G'1D8 0Ll dISSB)) X310 H1d¥y30) Bunyisliena g avaszion| b, ru

Ircul

6 C

31.03.2024

Page 103 /133



6 Circuit diagram

Page 104 /133 31.03.2024



7 Tool kit

Page 105/ 133 31.03.2024



7 Tool kit

Item no. Article no.
013344
013345
013346
070900
014962
015315
017598
015809

© 00 N o u b~ W N -

015229
054064

=
o

Page 106 /133

Description

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Spare blades, 210 x 60 x 1 mm Duro/Vario
Spare blades, 210 x 60 x 1,5 mm Duro/Var
Hexagonal screw key SW8 DIN 911L
Plastic box 30x65 SM1200/SM800/Duro/LS
Hearing protectors

Special key SW10 Wolff

Safety gloves 1 pair

Blade protection 210mm

Tool bag green - Wolff

Quantity

N R e = = T = W = R =

31.03.2024



8 Accessories

Page 107 /133 31.03.2024



5 Cayman Stripper 230V EU (0169/2015 - heute)

Page 108 /133 31.03.2024



5 Cayman Stripper 230V EU (0169/2015 - heute)

Item no. Article no.

01 01_068213
01_02_066497
05_03_066666
05_04_068144
04_05_068124
01_06_015021
01_07_068288

0 N o u A W N

01_08_066666

Page 109/ 133

Description

Drive unit

Drive motor
Cockpit

Handle

Striking mechanism
Circuit diagram
Tool kit

Accessories

31.03.2024



1 Drive unit

31.03.2024

Page 110/ 133



1 Drive unit

Item no. Article no.

1 068103
2 066499
3 068101
4 066071
5 068574
6 014815
7 017769
8 065756
9 068105
10 068106
11 014888
12 068102
13 066531
14 017558
15 066497
16 068250
17 068191
18 068195
19 014861
20 014860
21 014859
22 068298
23 068100
24 016138
25 017741
26 066498
27 018272
28 017561
29 014734
30 049654
31 017743
32 042368
33 078383
34 068570

Page 111 /133

Description

Housing Cayman Stripper

Drive shaft axle Cayman Stripper
driving wheel cpl. Cayman Stripper
Chassis Cayman

Washer WC12DU 14x26x1,5
Hexagon nut M6 DIN985

Tooth washer A 4,3 DIN 6798

Gear block cpl. Cayman

friction bearing MFM 1420-15
handle Chassis Cayman Stripper
Wheel pin 4,2mm galv.

Drive hub plate left Cayman Stripper
Drive hub plate right Cayman Stripper
Lens head screw M 6x25

Motor cpl.Cayman Stripper 230V
O-Ring 125x2

Nut key 5x5x25 DIN 6885 A

SG cover tube Cayman Stripper
Washer M10

Schnorr Washer M8

Schnorr washer M6

Control cable 7x1,5 Chassis Cayman Str.

Pin insertion 10 polig Cayman Stripper
Rubber stop

Washer M14 DIN 125

drive belt Cayman Stripper

Cylinder head screw M6x12 DIN 6912
Cylinder head screw M5x12 DIN 912
Cylinder head screw M8x20 DIN 912
Cylinder head screw M10x25 DIN 912
Cylinder head screw M4x16 DIN 912
Cylinder head screw M10x40 DIN 912
Additional weight 20kg Cayman
Three-star grip screw cpl.M10x45

Quantity

P R A B N N N O R NN P B NN O H W R P N P B N B NP MNP B N R R

31.03.2024



1 Drive unit

Item no. Article no.

35 014932
36 069734
37 059469

Page 112 /133

Description
Rubber sleeve

supporting plate Cayman Stripper

Rubber sleeve

Quantity
2

1
1

31.03.2024



8 Gear block cpl. Cayman

10 12 6 7

Page 113 /133 31.03.2024



8 Gear block cpl. Cayman

Item no. Article no.

065515
065514
065509
065520
071562
065592
065562
065561

© 00 N o u b~ W N -

065591
065560

=
= O

014731
065596
067997

[ R S
A W N

065513
067996

=
[o) INEN O,

019101

Page 114 /133

Description

Lay shaft Z 13 Cayman gear block
Lay shaft Z 49 Cayman gear block
gear cover Cayman Getriebe

Bushing Cayman Getriebe

Oil seal ring 14x22x4 A

O-Ring 88,62x1,78

Ball bearing 61906 2RS

Needle roller bearing BK 0910

O-Ring 14x1,8

Cylindrical pin 5x 30 DIN 7979
Cylinder head screw M6x25 DIN 912
Rotary shaft seal A 30x40x7 DIN3760
gear block housing cpl. Cayman Stripper
Lay shaft Z 14 Cayman Gear block
Safety washer 113 DIN 472

Starter disc WC20DU 22x38x1,5

Quantity

R N B B N W N P NN R P R RPB B BB

31.03.2024



15 Motor cpl.Cayman Stripper 230V

31.03.2024

Page 115/ 133



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

1 068739
2 068741
3 068743
4 068744
5 068745
6 068746
7 068747
8 068748
9 068749
10 068750
11 068753
14 068754
21 018759
22 068755
23 068787
24 017692
25 068766
26 068790
27 068756
28 067868
29 068782
30 068757
31 068758
32 068783
33 068762
34 068759
35 068761
36 068760
37 068763
38 018091
39 018359
40 014850
41 068768
43 015171

Page 116 /133

Description

edge runner cpl. 230V Cayman Stripper
coil ring cpl. 230V Cayman Stripper
screw HC3,9x70 Cayman Stripper

motor housing Cayman Stripper

Carbon brush holder cap Cayman Stripper
screw HC3,9x9,5 Cayman Stripper
carbon brush Cayman Stripper

carbon brush holder Cayman Stripper
Printed circuit board 230Cayman Stripper
screw HC3,5x9,5 Cayman Stripper

Air ring Cayman Stripper

connection braid Cayman Stripper
Selftapping convex head screw C 4,2x32
gearing bearing cover CaymanStr. green
Ball bearing 6000 2RSL C3 CaymanStr.
Safety washer 126 / DIN 472

Bearing HK 0808

groove pin 4x10 Cayman Stripper

shaft Cayman Stripper

Ball bearing 6000 ZZ Power X 900,1100
pinion+bevel gear CaymanStripper

gear block housing black Cayman Str.
socket 1 Cayman Stripper

pressure spring 0,7x8,5x9x1,5 Cayman Str
gear shaft Cayman Stripper

socket 2 Cayman Stripper

gearing seal Cayman Stripper

cover Cayman Stripper

spindle Cayman Stripper

Circlip 135 DIN472

Ball bearing 6003 2RS

Safety washer A17 DIN 471

barrier Cayman Stripper

Bearing HK 0810

Quantity

P R R R R B R R R R B R R R R P WRHE R R P U N RPN R NNDNNRNR R

31.03.2024



15 Motor cpl.Cayman Stripper 230V

Item no. Article no.

47
48
53
54
55
56
57
58
59
60

068784
068789
068764
017663
014804
068785
068767
068786
068769
068770

Page 117 /133

Description
braid Cayman Stripper

safety washer SW10 CaymanStripper
Supporting plate Cayman Stripper
Tooth lock washer 4.3 Form A DIN 6797
Lens head screw M4x10 DIN 7985

Ball bearing 627 2RSL CaymanStripper
bearing cover Cayman Stripper

washer Cayman Stripper

magnet Cayman Stripper

spacer Cayman Stripper

Quantity

P R R B B NN R BN

31.03.2024



2 Drive motor

31.03.2024

Page 118 /133



2 Drive motor

Item no. Article no. Description Quantity

1 074310 Motor Cayman 230V Stripper 1
2 016140 Selftapping convex head screwC4,2x38DIN 4
3 068192 motor cover Cayman Stripper 1
4 068212 lock nut M16 1
5 068198 Bolting M16x1,5 1
6 068199 Cable gland M16x1.5 1
7 068185 plug Winsta 5-polig 1
8 068200 motor cable Cayman Stripper 1
9 066534 Toothed belt pinion Cayman Stripper 1
10 066533 SG motor plate Cayman Stripper 1
11 014858 Schnorr washer M5 4
12 014722 Cylinder head screw M 5x25 DIN 912 4

Page 119/ 133 31.03.2024



3 Cockpit

3
31 2
\ 3\ /42
Loey d 22
Xy N ET: //
40 89 26 34
39 7o AP

Page 120/ 133 31.03.2024



3 Cockpit

Item no. Article no.

1 017503
2 066074
3 014647
4 068025
5 068026
6 068024
7 118141
8 069784
9 039202
10 068023
11 068649
12 015211
13 089582
14 039190
15 067749
16 068008
17 017507
18 040503
19 082408
20 082260
21 052443
22 068166
23 164755
24 039298
25 070000
26 014859
27 014860
28 071591
28 072222
28 051437
29 068027
30 068021
31 069782
32 032751

Page 121 /133

Description

Adapterattachment

Cover OO C-handle wolffgreen

Knob with cover f.potentiometer

Top hat rail through clamp blue 4x

Top hat rail through clamp grey 2x

Top hat rail through clamp grey 4x

Label Wolff 3D d80mm

Grip covering right"Dead man"

Handle tube for Extro2,VarioSilent

Top hat rail 100 mm

cable set Cockpit Cayman Stripper
Cable clamp Motor Duro 2.0
Presse-étoupe MS-M 12x1,5/KB 3,5-7
Screw connection w.bending prot.M20x1,5
cable retention

Bushing insert 10E polig Cayman Stripper
Contact element open NC

Washer 4,3x20x1,25 n.DIN 522

spacing roller @3,2x@6x3

power pack 15W out:12VDC in:100-240V
Safety switch

Potentiometer 250K

ETA protective switch 230V 2021

Switch "Dead-man"with cable VarioSilent
switch housing C-Stiel wolffgreen
Schnorr washer M6

Schnorr Washer M8

El.cord 3G2,52X0,36M black Schukost
El.cord3G2,5%2x0,36m black without plug
El.cord 3G2,5x10m black without plug
Top hat rail protection clamp GR-GE 4x
Control cable 8G1,5 Cockpit Cayman Str.
Grip covering left VarioSilent/CaymanSt

Dead-man-seized handle

Quantity

P Rk R B B B PR N>R B PR R R R N NNRPR P W R NP R R R P PR Y92 R R R

31.03.2024



3 Cockpit

Item no. Article no.

33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
48
48

068009
076540
014739
018284
014730
051709
051722
051914
136966
136969
014715
071895
082266
076759
066899
039203
019165
019170

Page 122 /133

Description
Housing for grommet Cayman Stripper

Current limitor 115-230V 3adrig GEFI
Cylinder head screw M8x45 DIN 912
Cylinder head screw M4x12 DIN 912
Cylinder head screw M 6x20 DIN 912
ETA protective switch 230V SEE 164756
Cap for ETA switch

EJOT Screw Torx 4x16

Label emergency C-Stiel

Label arrow C-Stiel

Cylinder head screw M3x10 DIN 912
Top hat rail unclamp 6mm
USB-recessed socket with Cap

Top hat rail endcoverplate

Relay 12V 230V Cayman

Plug grey

Plug 230V 3-polig Switzerland

Plug 3-pol.230V SK1 UK

Quantity

R P R B R P NN B B N RFP RFP B SNN R R

31.03.2024



4 Handle

Page 123 /133 31.03.2024



4 Handle

Item no. Article no.

1 037953
2 038567
3 017786
4 014860
5 017651
6 066535
7 085480
8 014817
9 068294
10 078560
11 014734
12 078562
13 072331
14 042473
15 066532
16 060766
17 068098

Page 124 /133

Description

Fixing pin

Clamping lever GN300-92-M10-16-SW
Tooth lock washer 10.5 DIN 6797
Schnorr Washer M8

Cylinder head screw M8x16 DIN 912

SG Outer tube C-Handle

SG Inside tube handel Turbo/Vario/Extro
Hexagon nut M10 DIN 985

handle bracket right Cayman Stripper
handle bracket left Cayman Stripper
Cylinder head screw M8x20 DIN 912
SG-Tipping support cpl.Cayman Stripper
Flat round screw M10x85 ahnlich DIN603
Clamping lever GN300-78-M10-SW
transport axle Cayman Stripper

Spring cotter

transport wheel D 140 Vario Stripper

Quantity

N N P HF W R DM R R N B PR N OR R R

31.03.2024



5 Striking mechanism

31.03.2024

Page 125/ 133



5 Striking mechanism

Item no. Article no.

1 036009
2 077746
3 015021
4 015219
5 014815
6 076729
7 014860
8 077747
9 077748
10 077743
11 068169
12 068168
13 013344
14 015218
15 054035
16 014858
17 014711
18 077745
19 018972
20 014857
21 014756
22 014847
23 015234
24 014827
25 066714
26 014746
27 014722
28 047385
29 017651
30 066072
31 066929
32 166101
33 166104

Page 126 / 133

Description

Blade holder set ECO

Counter balance weight Cayman

Motor 230V NO LONGER AVAILABLE
Distance ring 0,2 mm

Hexagon nut M6 DIN985

Excenter shaft DURO w.nut key from 2014
Schnorr Washer M8

Eccentric bearing Cayman

Rubber stop @40x30-M8

Bearing plate Cayman green

border left Cayman Stripper

border right Cayman Stripper

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Sealing ring Motor Duro 2.0

Nut key 5x5x12 DIN 6885

Schnorr washer M5

Ball bearing 6304

SG-Striking foot Cayman

Flat round screw M6X25 DIN 603

Safety washer 152 DIN 472

Countersunk screw M6x16 DIN 7991 10.9
Shaft seal A28x52x7 NBR

Crown wheel Duro

Washer M6 DIN 125 A

lens head screw M 8x12

Cylinder head screw M14x30 DIN 912
Cylinder head screw M 5x25 DIN 912
Lens head screw M8x20

Cylinder head screw M8x16 DIN 912
cover impact syst.Cayman

Safety washer M 8

Motor Cayman 230V / 2021

Motor Cayman 230V with bearing shield 21

Quantity

N N L T T e e e = T = T = R R S o' B = N ~URR NG R S SR

=
N

R kA~ P A b~ W N DB S~ PP

31.03.2024






1 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

015223
014772
014815
014827
014962

Page 128 /133

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



j—“'

t diagram

N

1deJs }Jog
JnejuR JuRS

L
Jojowsaalliuy m WA A

1040} 040l paac

i Tj,umf,%wlm
| G
I

zm HM ui

waysds yaedu)
Jzmb

A—
i

Sy

T

o~ [
< OUYBYBYLYOVS #T2YC

\ \
LN\JJ\JJ

R

S'UXL QLL d1sse)) X310 sIssey) bunpisjuenalg _G'1D8 0Ll dISSB)) X310 H1d¥y30) Bunyisliena g avaszion| b, ru

Ircul

6 C

31.03.2024

Page 129/133



6 Circuit diagram

Page 130/ 133 31.03.2024



7 Tool kit

Page 131 /133 31.03.2024



7 Tool kit

Item no. Article no.
013344
013345
013346
070900
014962
015315
017598
015809

© 00 N o u b~ W N -

015229
054064

=
o

Page 132 /133

Description

Spare blades, 210 x 60 x 0,7 mm Duro/Var
Spare blades, 210 x 60 x 1 mm Duro/Vario
Spare blades, 210 x 60 x 1,5 mm Duro/Var
Hexagonal screw key SW8 DIN 911L
Plastic box 30x65 SM1200/SM800/Duro/LS
Hearing protectors

Special key SW10 Wolff

Safety gloves 1 pair

Blade protection 210mm

Tool bag green - Wolff

Quantity

N R e = = T = W = R =

31.03.2024



8 Accessories

Page 133 /133 31.03.2024


http://www.tcpdf.org

	Table of contents
	1 Cayman Stripper 230V EU (0001/2012 - 0053/2012)
	1 Drive unit
	8 Gear block cpl. Cayman
	15 Motor cpl.Cayman Stripper 230V

	2 Drive motor
	3 Cockpit
	4 Handle
	5 Striking mechanism
	1 Blade holder set ECO

	6 Circuit diagram
	7 Tool kit
	8 Accessories

	2 Cayman Stripper 230V EU (0054/2012 - 0136/2014)
	1 Drive unit
	8 Gear block cpl. Cayman
	15 Motor cpl.Cayman Stripper 230V

	2 Drive motor
	3 Cockpit
	4 Handle
	5 Striking mechanism
	1 Blade holder set ECO

	6 Circuit diagram
	7 Tool kit
	8 Accessories

	3 Cayman Stripper 230V EU (0137/2014 - 0141/2015)
	1 Drive unit
	8 Gear block cpl. Cayman
	15 Motor cpl.Cayman Stripper 230V

	2 Drive motor
	3 Cockpit
	4 Handle
	5 Striking mechanism
	1 Blade holder set ECO

	6 Circuit diagram
	7 Tool kit
	8 Accessories

	4 Cayman Stripper 230V EU (0142/2015 - 0168/2015)
	1 Drive unit
	8 Gear block cpl. Cayman
	15 Motor cpl.Cayman Stripper 230V

	2 Drive motor
	3 Cockpit
	4 Handle
	5 Striking mechanism
	1 Blade holder set ECO

	6 Circuit diagram
	7 Tool kit
	8 Accessories

	5 Cayman Stripper 230V EU (0169/2015 - heute)
	1 Drive unit
	8 Gear block cpl. Cayman
	15 Motor cpl.Cayman Stripper 230V

	2 Drive motor
	3 Cockpit
	4 Handle
	5 Striking mechanism
	1 Blade holder set ECO

	6 Circuit diagram
	7 Tool kit
	8 Accessories


